
Additonal/Separate Physics ISA 2013-14
Resistance

PART 2



QUESTION 1 FROM THE PHYSICS ISA SUMMER 2013

EXAMPLE ANSWER
VALID STATEMENT: THE  AFFECTS THE RESISTANCE.
PATTERN: AS  INCREASES SO DOES THE RESISTANCE.
IDENTIFYING RESULTS: GIVE TWO EXAMPLES, ONE HIGH 
AND ONE LOW



QUESTION 1 FROM THE PHYSICS ISA SUMMER 2013

EXAMPLE ANSWER:
THERE ARE NO ANOMALOUS RESULTS
BECAUSE ALL THE DATA IS CLOSE TO THE LINE OF BEST FIT
(QUOTE AT LEAST TWO VALUES TO CONFIRM THIS)



QUESTION 1 FROM THE PHYSICS ISA SUMMER 2013

EXAMPLE ANSWER:
CALCULATE A MEAN READING FROM THE REPEATS.
THIS IS DONE BY ADDING THE REPEATED READINGS 
TOGETHER AND DIVIDING BY THE NUMBER OF READINGS.
ANY ANOMALOUS READINGS SHOULD BE EXCLUDED SO 
NOT TO AFFECT THE MEAN.



QUESTION 1 FROM THE PHYSICS ISA SUMMER 2013

INDEPENDENT VARIABLE WRITTEN ON CRF

MINIMUM VALUE MAXIMUM VALUE

EXAMPLE ANSWER:
THIS WAS A SUITABLE RANGE BECAUSE I SAW A TREND. 
THIS IS CONFIRMED BY MY RESULTS (QUOTE AT LEAST 
TWO VALUES)



What is meant by a “sketch” graph?

• What do you notice about the two graphs 
below?

SKETCH GRAPH – JUST A “SKETCH”



A question from Physics ISA 2011

DEPENDENT 
VARIABLE

INDEPENDENT 
VARIABLE



QUESTION 2 FROM THE PHYSICS ISA SUMMER 2013







A question from Physics ISA 2011
Context: LIGHT BULBS BEING SWITCHED ON/OFF WHEN THEY’RE COLD
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